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Short answer questions/problems

1.  Last year, Ford had an inventory turnover of 13.1.  How would you determine whether this is “good” or “bad”?
Compare to industry averages and historical industry turnover for Ford.

2.  List (words not abbreviations) the 3 ratios that would reveal the most about whether or not Ford is profitable.
Profit margin (gross or net), return on equity, return on assets.

For questions 3 through 6, assume you are attempting to calculate Ford’s EVA for 2002.

3.  As a part of calculating Ford’s EVA, you have calculated Ford’s cost of equity and the yield to maturity on its outstanding debt.  List the additional information you would need in order to calculate Ford’s cost of capital.
Market value of equity and debt, tax rate.

4.  Assume you are planning to calculate Ford’s 2002 EVA using the Harnischfeger approach.  Using the following information, what would you use for current liabilities when calculating Ford’s capital?
21,328 + 24,224 + 39,812 + 923 = 86,287 = 263,435 – 166,803 – 10,345

        Ford Motor Company and Subsidiaries

                           CONSOLIDATED BALANCE SHEET

                           --------------------------

                        As of December 31, 2002 and 2001

                                  (in millions)

                                                        2002            2001

                                                --------------  ------------

Payables                                            $ 18,981        $ 21,328

Accrued liabilities                                   25,088          24,224

Debt                                                 162,222         166,803

Other liabilities and deferred income                 56,276          39,812

Deferred income taxes                                 14,561          10,345

Liabilities of discontinued operations                   969             923

                                                    --------        --------

  Total liabilities                                  278,097         263,435

5.  Assume again that you are planning to calculate Ford’s 2002 EVA using the Harnischfeger approach.  Using the following information, what would you use for Amortization of Capitalized R&D when calculating Ford’s NOPAT?
Research and Development Spending over the last 10 years (note that all numbers are in billions).

2002=7.7; 2001=7.3; 2000=6.8; 1999=6.0; 1998=6.3; 1997=6.2; 1996=6.7; 1995=6.6; 1994=5.2; 1993= 5.0
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6.  Why might stockholders care more about a firm’s EVA than the earnings reported in its financial statements?
EVA corrects for violations of the time value of money by accrual accounting by recognizing an interest cost on any net spending shifted into the future for accrual purposes.  

or, Earnings violates the time value of money by shifting costs and revenues through time without adjusting for the time value of money.  EVA corrects for this violation by recognizing an interest cost (capital charge) on any net spending shifted into future period.  

7.  Assume that 3 years from today you make the first of a series of annual deposits of $250 each into a savings account that pays an interest rate of 1.2% per year (this is the APY).  If the interest rate on this account doesn’t change, how much will be in your account right after you make your deposit 10 years from today?
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8.  You have just deposited $100 into a savings account and plan to make additional monthly deposits of $100 each through 2 years from today.  Two years and 2 months from today, you plan to make the first of a series of semiannual withdrawals from this account.  You want these withdrawals to continue through 8 years and two months from today and you want for each withdrawal to be 1% larger than the previous one.  List the sequence of calculations that would allow you to calculate how large you can make your first withdrawal.  Also state what you are solving for in each step.
Future value of annuity (solve for future value), present value of lump sum (solve for present value), present value of growing annuity (solve for payment).

Answer questions 9 and 10 below on the same graph.  Be sure to clearly label which part of the graph answers each question.

Assume that you are considering investing in Honda and Wal-Mart.  Based on return data from the past 5 years, you found that while the standard deviation of returns was the same for Honda and Wal-Mart, the average return on Wal-Mart was higher than on Honda.  Assume you believe these relationships will hold in the future.  
9.  If the risk-free rate of return is 1.2%, graph and identify the optimal combination of Honda and Wal-Mart assuming you want to invest in T-bills, Honda, and Wal-Mart.  Also state whether based on your graph you will have more money invested in Honda or Wal-Mart.
10.  State and show how your answer to 9 will change if you decide you want to reduce the amount of risk you are taking?  
Description of graphs for 9 and 10:  Wal-Mart is directly above Honda.  A curve extends to the left of the two points.  A line extends from the risk-free rate of 1.2% to the point of tangency on the curve.  This point of tangency is the optimal combination of Honda and Wal-Mart.  There is no change in the optimal combination of Honda and Wal-Mart when want to reduce risk….the change is along the line rather than along the curve.
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Problems/Essays

Note:  Most problem/essays involve a number of steps.  For problems, the final answer is worth a few points at most and in many cases is worth no points.  Setting up the correct equations with the correct numbers is what earns most if not all the points.  As a result, you should set up everything first then do calculations if you have time left.  For essays, talking about the major issues gets the most points.  Discussing additional side issues may earn a few points.  So be sure to discuss the main points first then additional minor points if you have time.

1.  You have just deposited $100,000 into a savings account paying an interest rate of 3.7% per year compounded continuously.  Five months from today, you plan to make the first of a series of quarterly withdrawals from this account that continue through four years and eight months from today.  You plan for these withdrawals to increase by 0.3% each in order to allow for inflation.  What is the largest your 2nd withdrawal can be if you are to achieve your goals?
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2.  You have collected return data on Microsoft and Coke for the past 4 years (September to September) as follows:

Return on:  

Year
Microsoft
Coke
2003
31
-9
2002
-14
4

2001
-15
-15

2000
-34
16

Based on the past 4 years, what is your estimate of the correlation between Microsoft and Coke?
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